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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS
1. 'I‘hls Booklet has a cover { this page ) which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear

the right side of the booklet cover carefully to open the booklet. Then proceed to amswer the
questions. L4

This Question Booklet contains 200 guestions.
- Answer all questions. All questions carry equal marks.

4, The Test Booklet is printed in four series e.g. - - - or @ (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.
For example, if the carididate gets - series booklet. he/she has to indicate in the side 2 of the
Answer Sheet with Biue or Black Ink Ball point pen as follows

[A]I(Blici(D]

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You

’ must-write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
fafling which your Answer Sheet will not be evaluated,

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen’
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to

‘ encode the above information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A). (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case. choose ONLY ONE response
for each gquestion. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

9. In the Answer Sheet there are four brackets (A [ [ B ] { C ] and { D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
cach question. Sclect one response for each guestion in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

(A (C]ID]

10. You should not remove or tear off any sheet from this Question Booklet You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination {s over.

11.  The sheet before the last page of the Question Booklet can be used for Rough Work,

12.  Fallure to comply with any of the above instructions will render you liable to such action or penaity
as the Commission may decide at their discretion,

13. For Question Nos. 1 to 100 in all matters and in cases of doubt, the English Version is final.
14, Do not lick-mark or mark the answers in the Question Booklet.

[ TAMIL VERSION OF INSTRUCTIONS IS PROVIDED ON THE BACK COVER OF THIS BOOKLET |
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LT T DI SIGNGTOT D crvvvrrrerroreoeens S GD.
A &i\sfsrasrrr@ ' B) OQe&dhwrmy
C)  wTieesL He D}  euctestlumpy.

.The tributary of Palar river is

L d

A}  Chinnar river B) Cheyyar river

C) M_arkanda river D)  Vanniyar river.
msqafmrt.'.::_‘ ol 5% WsHHDHE CQuwT QUDDE SeUDTED 2

A @be osb 3 B)  &wes 8

Cy . Lalégg gl D)  dlbleévaien wsb.
Mourit Abu is the famous religious centre of

A) Hinduism B) Jainism

| C) Buddhism ‘ D) Chrisﬁanity.

0 eveblaless cuenmlledT 2 88 2 WD eeuCUTL SaplLBSDa 2

A Geohow ' B) sal.(Géagrad

C) sl ; D) Qumses grrefl.

The highest point of the frequency curve is called

"A)  Median B) Arithmetic mean

C) ‘Mode ’ D)}  Geometric mean.

SPHHEOIL urbHutishaers soueh :

rauuj)@; (A . @bdlus ereblane S LGUSGSTHDTE® 2 @t TEsULGHDS.

siryeood (R) @_mmmsmsu aL&de  geubdElus  UmGaSGTOD  gHUL 310
ST TETIDTEID. ‘

FCp @O @erer GO g6 afluren éfﬂeml_smu.lg, Coipos® :

A @A) of (R e |

B} | (A) wd (R) af

Q) (A) seumy, yeomes (R) gl

D} (A) whnid (R) geumy.

x (‘ - | ' [ Turn over
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Consider the following statements :
Assertion (A} :  Indian ciimate is characterised by tropical monsoon wind.

Reason (R) : The Northern location of Himalayan mountain is one of the

reasons for monsoon.
Now select your answer according to the coding scheme given below :
A) (A) is txlue, but (R) is false
B)  Both (A) and (R) are true -
C) (A} is false-but (R) is true_
D) Both (A) and (R) are lalsc.
5. sflueeniy Frsdlmpssd @blss) G\@sﬁsméﬁ g{rf)]é%sm% QeusflullL. il L oy a8
A) 1920 B3) | 1930
C) i9_33 | ' Dy 1935.

The white paper of Constitutional reform was issued in the year

A) 1920 _ | B) 1930
.C) 1933 D) 1935,
6. “mai urre\ﬂ.c'ﬁ gD ereor PlwiL@o a-l'_l__&,@@g;gﬂb'erg] ?
A 72 eum &ngjgg\@gg,m 2 B) 73 cug 6L s8mes
C) 74 eug sl 5HEEHs0 D) * @eubmier ergablecmen.

Which amendment is also known as “Nagar Palika Act” ?
A} 72nd _ _ B)  73rd
C) 74th ' : D) None of these.

x [180Z] |
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7. ulgud Ig ugue I 2 d& Quresd), £Cyp Qer@ésiul Gerer @bluibaamens

Qencn(® gflure alleoows CathGs® :

a)
b) |
c)
d}
eplipse :
a
A 1
B) 3
c)  2-
) 4

Ul wée 1
LDERSVBIT (B
Gearmrip sustmHT(
LT etong W mr(H

Glgresorem BHT@H

4 1 2
3 4 1
2 3 1.

uligweé I
1. wsgoLpyl
2. gretQomt 2 eoL S5
3. GeaupueLss

4, QoL $sl.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
c)
d)
lCo;ies :
a
A) 1
B) 3
C) 2
D) 4

x|1802|

List I
Malainadu |
Chola Valanadu
Pandi nadu

Thondai nadu

3 2 4
4 14 2
3 4 1
2 3 1

List II
1. Muthudaithu
2.  Sanror Udaithu
3. Vezhamudaithu

-4, Sorudaithu.

. ' [ Turn over
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10.

11

Lyeuds Qasclieusisel ool LsteleaNeursEiDg GLIT(hSsnTeorsne 7

A) sTeHos QLU LUTes Qarearl. Yersfaleurb

B} @Lses siglumLwunss Gereaml ysteflalearn

C)  sywableaes LT
D) uiTeou &quumt_mn'aés- QemeorL yeirefelauri,

Histdgrams are suitable for

A) Chronological data B)  Geographical data

C) Frequency distribution D)  Qualitative data.

. Epaergid woplynet siflan Qurglasile ag CQurgeurs e Guren Bt eurp

el sefland, senyeurd uTeyr g seflepd &reouL@Eng) 2
A yhé oo B)  eiGoreiur
C) oyl D} . sGorefiur whrd yhlé sublen.

Which of the following nitrogenous excretory products is generally found in

aquatic animals like fishes and terrestrial forms like mammals ?
A) Uric acid : B} Ammonia
C) Urea ' D) Ammonia and Uric acid.

gup wgliyssfles sgrefl 8. Gaa a1 16 aargnd o wduy Carssuuidng
eresléu, 6T () L setietr gyma

A) 13 B) 9
C) 8 o ' . Dy 24,

The mean of seven observations is 8. A new observation 16 is added. The mean

of eight observations is

A) 12 B) 9

QC) 8 D) 24.

Qeusdldar Gauamawleneyd, @7 &Hs @E_L;g';mg,ufo (Paedled 5Gu‘<sr|_g51[f,g.sur'r'turrr'r ?
A} gesd _ B) afevellubd apmiald

C) euflg o D) greresir.

x [180Z] | g
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15.

7

Who first discovered the function of heart and the circulation of blood ?

'A)  Alion ' B) William Harvey

C)‘ Smith | D)  Johnson.

Qla astemetllén (1PHE (6 & &&ni_ID 61ihS (D HDEHLIULLG) 7
A" 1854 | : B 1711

C) 1801 D) 1799,

! ~
In which year was first Tamil printing press established in Chennai ?

A) 1854 , B) 1711

C) 1801 VA D) 1799..

2 WTHHOSTD BHUS .oovirereerereree GPQLYD Gﬁcﬁmq ugel eudliumi,
A) 58 amg B 60 cuwg)

C) 62 auwug - ”~ ‘ ‘ D] 65 awgy).

A Judge of High Court shall hold office intil the age of

A) 58 years - B) 60 years

C) 62 years D} 65 years.

a2 & wrér eurmsuut L sluedler Gluwt

A)  eurélimeihum B} Gsrmwaswrm

“C) - &medlwm ‘ D) spmedl.

The ship which was purchased by V.0.C. is

A) Lucitanié | B) Komaga;tamaru
cy Kaﬁya D)  Jhansi.

aihg 2 modle L;;,rﬂm& eGUTApEID 2 @meurdpg ?

AT dmfysb B) FFIJ';;'\J'

©)  wemedye D) engey.

In which organ does the formation of urea élways take placé ?
A} i{idney ' B)  Liver

C} Spleen D) Thymus.

POEM
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16. @sssdlent pH .....coverveeee,. 2SLGD.
A) 125 . B) 98
C) 74 ' ' D) 25.

The pH of blood is

A) 12-5 - B} 98

C) 74 D) 2-5.
17. uvdlghe Caimenllas ennOuesug

A)  Goueoe Geiw algburGsrisaen Ghl&SHDg!

B}  apbiyd Cousmer Hem_sar@amt

C) (BmEoQLL BGeuemer Calg Bm&dHlep Couanevsmw emsaill GLmt

D) ezempéd UpssssTeR Galmeaw ol G Basiu G |

Open unemployment refers (o people

A) who are not willing to work

B}  who are willing but do not get work

C) _ ‘who leave their jobs in search of better onesI

D) who have been dismissed because in corrupt practices.
18. saeue Cal.@) Oumb 2 flewéer L b peoLpepluBSHsUL L e60[H

A) 2003 v | B} 2004

C) #8005 W ' D) 2008.

Right to Information Act was put into force in

A} 2003 ' : B) 2004

C) 2005 | D) 2008.

19. gblps el Lsamuilles 2 pulesiaefle oo afleans

Ay 117 B) 234
cy 78 D) 45.
In Tamil Nadu, legislative assembly consists of .........crveeern. members.
A) 117 ' , B) 234
c) 78 o D}  45.

x[1802] -
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20, ulgué I"gg uligwé I 2 e @urr@g’,,é,]'. &8y SLCLENTMGE Ly @HHemend

Qereor® sMuren efle_smwg CaorpQa®d : -

"

a)
b}
i c)
a)
efpss
-
A) 1
) B). 4
C) 3
% | D} .4

ulgwes I

grrmr'f

Cagifl

Gy ausal’.

Shgid

4 2

3 2

1

1%

Ulgwé I
1. Qebyssra
2. uTHEEL
3. arlurf

4. g;g'@[brr&,fo.'

Match List I with List II correcily and select your answer using the codes given

below :

a)

‘b)

c)

‘ d]l
| Codéé:
d a
A) 1

B) 4

c) - 3

D) 4.

x[1802] -

List 1

Zawar

Khetri

Renukoot

Singhbum

- List IX
1. IAron are
2. Bauxite
3. | Copper

4, Zinc.

' ' [ Turn over
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21. méﬁuﬂé\s gl L&) (peopenwd Qara@n @ cubs LD &g ?
A) 1909 gy @ sLd B) 1919 syb SRS s
C) 1935 sy SHETTHE T D) 1950 oyib S@THE S LD,
Which Acl provided Federal system of Government at the Centre ?
A)  The Act of 1909 B)  The Act of 1919
C) TheActof 1935 D) The Act of 1950.
22. Qear@ssiiu’ferer wdlliyseller wa@ sravs :
49, 46, 50, 55, 55, 49. 42, 49, 55
A) 50 Bj 49
) 47 ' Dj) 55.
For the given values,
4—_9._46. 50, 55, 55, 49, 42, 49, 55
the meode is '
A) 50 ' ‘ B) | 49
C) 47 ) 55
23. slog HegGanhpihisene 2400 é{t&}LtJlJﬁleuﬂlG'\) auflens tusas -
A} efley, @, 2wie), Sl seoiL b
B) s, S @, 2 wiey, sfley, gyifl
C) aumLb, S0, ¢flay, 2 wie, Loy Fwbleusf
D)  as&@iLb, HH, sLbg b, 2 wie), HUE.

Which one of the following indicates the correct sequence of the topographical
feature beneath the surface of the sea ?

/‘}) Slope, Shelf, Rise, Trench, Continent
1) Continent, Shelf, Rise, Slope, Trench
C) Continent, Shelf, Slope, Rise, Abyssal PPlain
D) Continent, Slope, Abyssal Plain, Rise, Shelf,
24. afflwd geomeures Qﬂmgmg Cairey Qadweyd
A} eanyGur &Gerrils ofauib. B) edllyfs opbed
C) @uﬁ.@(Bennﬂé, ubleud - D) 284 é opbleud.

x _
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25.

26.

27.

11 ' ' i POEM
Which of the following is a' weak acid ?
A) I-Iydrp(:hlvoric.acid B) Sulphuric acid
C) i’erchlori(: acid l , ' D)  Acctic acid.
e Gaomend gni g eguen |
A) - ROy Besterapssin &bﬂmn@m
B)  mily Yoo & humgid
C) | Firly Wetaraésld erevesr @uﬁw&qﬂ@fu &oib
D) wity yeud erdveur GLiseflgub swiome G)p&@i.
Inside a uniform spherical shell
A) the gravitatidnal potenttal is zero
B) the gravitational field is zero
Cj the gra;/itat_-ional potential is same everywhere
D) the gravitational field is séme everﬂhere.
e yfluevenniiy sL.& Q(r_r,_&,glb &&aﬂmm .g{Lq.Dumt; 2 Nempwreadlug 2
A} 9Baug HlBesb B)  86eug Hossd
C) . 84cug Hpssh | D) 68aug S,

Which Constitutional Amendmeni has made “Education” as a Fundamental

Right ? -

AW gé‘ih Amendment | _' B) 86th Amendment

C)  84th Amendment D) 68th Amendment.
wyrgdlu Currdles smbumgdl wrd »

A Beurghler eCamaym B) é\mné]ujﬁ (B EEDT

C)  Seurglles waest ' D)  Sleandller v sserud).

Who was Shambhaji in Maratha Kingdom ?

“A) Sh,ivaji"s brother ' B)  Shivaji's son-in-law

L3

C) Shivaji's son ' D)  Shivaji's army chief,

x[1802 . _ { Turn over



POEM . 12

28. Jlereupevesteummyal Blmpsirer surriq
| A)  Soliegnflet : . B)  emamiliygmes
C) - ysedlges D) anfeflwib.
The coloured gas among the following is '
A) Fluorine B) Hydrogen
C) Oxygen D) Heliu-m.
29.  srpdlée @&é’\) ST 81D 6T eBTLIG)
A)  doaCaromadldy ' : B) dHoalasrbmaifd
C) dlenenGanGlgetmeddleiv D) @@@&w@@un@gmﬂ@d&
Anaerobic phase of cellular respiration is
A)  Glycolysis » B}  Glycogenesis
C}  Glycogenolysis | D}  Gluconeogenesis.
30. 2010 wrfé 94 GCsdl wrhemss yomeanlléd BlonGappiiuiL Cueasasr L
$8HE0 wEemgraliherear LTETEHWLEED Hlensgpaller senevat wr ?
A} Bymguomt B) oundarGere
C)  sgise HrsSulues D) Qeupdl mgred.
Who was the Chairman of the Parliarhentary Standing Committee on Women's
Reservation Bill passed by Council of States on 9th March, 2010 ?
A)  Meira Kumar : B) Ambika Soni
C) Sudarshana Natchiappan - D)  Jayanti Natarajan.
31,  CBbUT L 60" 6TeoTlIG
A)  @Geues HTLQUd B} s fymLé
C) eaflésmbs D) @eubmist ergayblesemen.
‘Amba Aadal' is | |
A)  atype of dance B) Thai Neeradal
C) - Oozhi Koothu | ‘ ‘D) none of these.
32. @hdu oyrere THe LsTEIES HLb, @USureug Usewl Ut él eedim
sapriLpdlng 2
A) ad,rrr)rrsug sphBHTETHSSI LD B) @bsreug sphemest(HGeh b
C)  gyreug ppsraHSS LD D) el Lmeug hsresotHEHei L ib.
x (1802]
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33.

34.

35.

36.
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POEM

Which Five-Year plan was hailed by the Government of India as the Second

Greeni Revolution ?

A) Sixth Five-Year plan B) Fiith Five-Year plan

- C) Seventh Five-Year plan D)  Eighth Five-Year plan.

Guhdluraies symdles saallow WasTseld Clara® ubgem wri ?
A srger Uy B) GuésmCe iy

C)  Mouer Sgy - D)  seuanierd Goe.
English education was introduced in India by whom ?

A) Lérd Curzon ' " B) Lord ;\Aaéaulay

C) Lord Ripon : D) Jawa.harlal Nehru.
‘Slgpdlrdaryt el aeth UL He0g Gl iqd QeTeior et Wik 7

A) b aufwed B)  psemd wBa&nfly. itnes

C)  waerh prélboeuioed D) @pesami wBaphlyeuine.

Who assumed the titie ‘Chitrakarapulf’ ?

A)  Simhavarman - ' B) Mahendravarman I
C) Narasimhavarman l D) Mahendravarman IL
Qemfiberene o fobd Gss UFu Qareaimass st HPlallsatuL san@
A)  wmiré 1980 - B)  Olugeuf 1970

C)  guge 1971 . \ | . D) G 1972

New Industrial Licenéing Policy v;ras announced in

A)  March. 1980 B) February, 1970

C)  April, 1971 D) May, 1972,

e Rurae UTHéen EmELIT e | |

A) %M(an@ug | B) swCermGug

C)  wauBrrGug D) uw&»nrﬂ@mn@ug.

Virus attacks bacteria in

A) Actinophage B) Cyanophage

C)  Virophage : ‘D)  Bacleriophage.

X , , [ Turn over
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37. &péscon. eursdlutismend sl :
| ambm-(A) : pregurt SesenCem@ Uil iu@dans.
smyesoid (R) @ oyob, Qurhe, @\aTuib qparpio uDHE sapeusTe.
S8 @RI Geter i e sflurer allenoowg CoTHOBM :
A) (A} &ifl, (R) geumy ' '
B)  (A) wbHmbd (_R) @y etor (b &
C) (A seug (R) &l
D) (A) wHmyb (R) @yesoi@b Seum.

Consider the following statements :
Assertion (A) :  Naladiyar, Thirukuralodu Opidapadukyrathu.
Reason (R) : Arram, Porﬁl. Inpam Mundrum Patri Kuruvathal.
Now select your answer according to the coding scheme given below :
A) (A) is true, (R) is false
B) Both {A) and (R) are true
Cj) ,(A) is false, (R} is true
D) Both (A) and (R) are false.

38. waHu empd scmsTEAly  Eaud  hs  Gueddsr  ulbmerurd
2 (HeumHGUULL g ?

A)  Gerpsnfl @ B) shamend G

C) snseriur G - _ D) @grrgms&mrrrrr’r. S0P
Central Vigilance Commission was established by the recommendation of
A) Kothar{ committee B) Santhanam committee .
C) " Sarkaria committee D) Régjamannar committee,

39. wvepLud glumL s Epsaau @)L hsamer gqrupswors eflamsiuBss :

L. Cuh@é oL.hHaen '
1. Gupe wsduw JyCsen
Nl 2 gsyaeton
V. @nrgeugmeb.

@eudmef :

A) v, II, 11, 1 B) v, I, I1, I

C)  ILILIV,I - D) IV, LI IL

x (1802 (1o01]
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Arrange the following places in the ascending order for recciving average
rainfall :
L West Coast
II.  Western Madhya Pradesh
ili. Uttarakhand ’
IV. Rajasthan.

Of these .. ‘
A) IV, IL LI B) IV.ILILI
C) INLILIV.I . D) IV.LILIL

40. Oga@iafbHurales padpalr e SEPsHesOUL e wTT 2

A)  slgwewiiu fleur B)  eloesthy umry s
C)  eUpoediu gurf D) urpdlanse.
Who was known as ‘Grand Ol.d Man of South India’ ?
A) Subramania Siva . B) Subramania Bharathi
Q) Subramania lyer D) ' Bharathidasan.

41. sadfuss safivhset sfitaléfloar Qeeflal@Go Curs aaalgorea &dlialsfemea
2 Bipding
A« d ' B B _
Cr v : : D) @l ematsHgib.
The-atoms of radicactive elements that emit radiations are
A} o . ‘ By 8 .
%) ¥ D} All of these.

42. ger Cprisense gt LesaD GG Hrbsrs Sie)

gaihp) (A} : Goerypp T Qedr  wmSgee P ghnk  Glersi@rd el
Qurpidg e wHSHUSE S DT LU

gy (B) © oGsgey  gellar Qaefliuri (s Hpesr Qurmisad e
- oBhpseusSldE HIDDT Semoyb. ~

#Cp @b erer @S igee sfwren aﬂmmeg Corpa® :

A} (A} oppid (B) & '

Bl (Al whmid (B) e .

Cl  (A) sf(B) seup

D) (A) seum (B) el

x|1802] , [ Turn over
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Gene therapy is the permanent solution for genetic diseases :

Statement (A) : The efficiency depends on the uptake of therapcutic gene by the
target ccll.

Statement (B) : Depends on the expression capability of the rapeutic gene.
Now select your answer according to the coding scheme given belov;r :

A) Both (A} and '(B) are true |

B) Both {A) and (B} are false

C) (A) iIs true, but (B} is false

D) (A} is false, but (B) is true.

43, sdpprige Guwpe CsTLTédl baelldr Ase efla vedHealld Gomeurear weny
QuneuBDHG SHTTEmTD.

A)  venp B0 Coahisel @)évamreann B)  smhm weapey GmLiil R
C) oflsorear srpo Glew. Gleuef D) | gl 2 wipkiser.

The eastern side slope of Western Ghats of Tamil Nadu experiences low rainfall  *
because '

A)  lack of rain bearing clouds B) leeward location

C) . more wind gaps : bl varying heights.

44. ogy e leealst dop ofeflsgn CGurg, 2 Ceamale o der Geaarg
myy dlefftwimedflesr tﬁ]mgﬁvrqu S HDSTET &)

A) | oflsfsdlpg

B) @ondpg

C)  wrprod Gyradlng
D)  fen 7 6501 eI Qurms s wrndns.

As the mass number of a nucleus increases, the binding energy per nucleon in
the nucleus J

A) ' increases
B) decreases
C) remains the same

L]
D) varies in a way that depends on the value of the mass number,



45,

16.

47.

17 . ' POEM
spefl Gleowullés, wrpiblee sLgad Geremb

A} cos™' (Ei] B) _ sin™! (n—2J

n, ny
' n . , 4 (n
) cos 'L D)  sim =L
‘ y : No

In optical fibre. the critical propagation angle is

A) cos™! (E—) B} ' sin') (—n—{]
m

<) cas™! (-El—] ' D). sin™! («ELJ
n, g

&8 Q&n@&&UuLQ@ﬁummaaﬂc{u 518 SHEUDTEHL @urr@&,g;uuu,@a?en@ N

A)  pserd uGehglyeuines — sLamzsh Caralld

B)  @eSriiD sui@eon LieudllgLssT —  SwiypbSlud Gt

C)  @nessrend mySinn eulftoes —  spmiflser

D)  grspdliboes - —  opresGsdveurt Garald.

- Which of the followihg is incorrectly paired ?

A)  Mahendrayvarmanl —  Rock-cut temple

B}  Varaguna Pandya il | —  Battle of Sripurambyam
C) Narasimhavarman l1 ) — Structﬁral temples

D) Rajasimha | o Iravateswara temple.

@bHurailes wiHu Caise D4, SGTBKD 6@5 aupLb ue pUl Glereoi Gt

<D}, GOYGTOTUIDIT 607 ) 7
Al 1985 B) 1988 -
C) 1989 ‘ D} 1990.

When was the Election Commission of India became multi-member Election

. Commission 7

A) 1985 B} 1988

C) 1989 D) 1990,
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48. @nered, sahdlr e dlow oirblss %thm@
A} 1954 B) 1955
C) 1956 D) 1959,
Rajaji started the Swatanira Party in the year
A) 1954 B 1955
C) 1956 D) 1959,
49. sbipmr® wrHe welg 2 Moo oy eeawsmud ajrﬁ)u@&,g;uull;g 24,601 ()
A 1998 B} 1996
C) 1997 ' D) 2000.
“Tamil Nadu Human Rights Commission”™ wa-s established in
A) 1998 F B) 1996
C) 1997 D) 2000.
50. porH Osreoheer aatn GDGHULEID |JTNESST 6 e 7
A) s Hlyyreihsse B) fayyrewid |
C}  seyrrenihsel D) dmpelamemnuriés Ly eooTha e
Which myth is known as "Nagara Thonmangal” ?
A)  Aadhi Puranas ( syl grasihser )
B)  Siva Puranam ( §leuyymessid )
C) Thala‘Puranas ( HeoLTreRIs e )
.I)) Thiruvilalyaadal' Puranas ( Spelenemur_é LJrapmaer ).

51. Jereumh cpabaanseiie ahs apessadles temaoniysene @ Quuren Gameord

109-5° 7
A B _ B)  oybCorefur
C)  D5Csen D) smiudt L 3 HasRH.

For which one of the following molecules is the bond angle 109-5° ?
A) Water _ B) Ammonia
.C}  Methane D)  Carbon dioxide.
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52. wrhesHCatu Blar@ufiu gpepiu@ssiulL QemPiniifley ag
A) B figiys Qemiflee B) oaeflls Ggirplé
Ci sailn Qg fle | D) @yemss Qgrfid.
Largest organiscd sector in T;ﬁnil Nadu statce is -
A) Fishmg indusiry _B) Textile industry
C) .“ Mining industry Di Coftage 'industry,

53. dlaflanefiest 2 U spé&Henrea si%8 812, ,S1%%  whoo Si*?  adner
_ ) 14 11 14 mo 14

EARNER Bl

A)  e@erumrisei B) s0GemGL_rmebt s J

C)  sGenGLmiysen ' D) gGerbunfisar.

The nuclei of 4 Si%8, ,48129, ,,,Si:*q and |, $i%2 —allare oo .. of silicon.
A) isobars . B) isolones |

C) isotopes ‘ D) isomers.

Hh4. pHeaaug _

A) o &élmen owell Geplay B) eanliygper swehl Gledia

C) anfeluid e Qabley ' D)  umevugen Huah Gedley.

pH mecans l ' -

LAR, _Oxygen ion concentration B)  Hydrogen ion concentration

Cj Helium fon concentration D)  Phosphorous ion concentration.
55. X wbmid Y @mx:b[ﬂec'ﬂ Lﬂeﬁisﬁr‘smt_m swestuTHEet X = -02Y +67,Y=-04X+ 72,

areflés X whHoib Y Geupdib@eien 61 GnaybGiany wrg 2 ‘

A) 0_'2288 g ’ ) 0-2882

C) 02828 . D) 0-8282.

‘Th'e regression cquations of X and Yare X =-02Y + 67. Y =~ 04 X + 7:2.

Then correlation coefficient between X and Y is
A) 02288 | B 02882
C) 0-2828 D) 0-8282.
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56. @bHw sspySEDGL N, HOPHTLIGE (PHH PHeOEET .
A) &. esrruamré _ B)  gubgTT @grrm&rr@ G uwmt
C)  uGsEsFRD D} .. @yroe.
Who was the first Chief Minister of Tamil Nadu afler Indeper;dcnce ?
A} K. Kafna’raj . B}  Omandur Ramasamy Reddiz_\r
C)  Bhakthavalsalam ’ D) O.P. Raman.
57. ob-gsh Sor Qurgetr  psscol  ahs mm-e,&rrr'rrr'gg gepsl  UTGSTUmU
Syeflé&dlpg) 2 ‘
A} Seass 2mpsd Qgrifihueds Gamlerentseps@h |

X .
B)  esmpsll - L@l  eupeewsGariget  Sheumd  yemesrdg  Hlewd
- Qgriflevreni & EHSHGD -

C) meyl uGHte aumupb Seibe Criflerent si@héheid
D} - eamys whpd peTOUD GETflevmertael Sjena ebBAESD.

Aam-Aadmi-Bima Yojana provides social security to

A) all labourers in rural areas
B) all landless labourers living below poverty line in rural areas
C) all labourers in urban arcas

) all labourers in both rural as well as urban arcas.
58. eveurensefles Lys 2 em Glelueuryy enphs L@

A) &g ' B) &rud®

C) usnrreimmé D) e&meudl@.

The protein coat of viruses is called

A) Capsule - B)  Capsid

C)  Plasmid : | D}  Cosmid.
59, &Gy 2 sreneuniés Heuprestgy 6T 2

A) 32576 ' _ B) 35893

C) " 36149 D) 37625.
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Find .the wrong one :
A S2576 B) 35893
¢} 36149 o | D) 37625.

chrr@&éuul;@eﬁsn G eansefledlmbg eflura el cw CarbbisRas

A) SAIL —_ Gaauld

B}  TNPL — o

C) TATA —_ &emiT

D) BHEL — e SHEHETEYTT.

Choose the correct one from the pairs given below :.

Al SAIL — = Salem

B) TNPL — !-!osur-

C) TATA — Karur

D) BHEL —_ Thanjavur.

a8 Gaigevsefler Spdlue sl flash LnCaps Coamqug ble Seudlub eduamg
Surfes Qelsg

A 2QCersaCisT G ‘B)  uéeuh$ prit CossTEwg

C) @ureld anpdlsr uflhgieoy D)  pydbwyre-r ufibgeny.

"There should be an official participation of political parties ‘at all levels of

Panchayat Elcctions.” This was recommended by
A) Ashok Mehtia Committee B) Balwani Rai Mehta Committee

C}  Rajiv Gandhi recommendations - D) Narasimha Rao recomendations.

"Brdlbb @y b 24,6001 (5 By bUleaElLLL g 7

A) - 1991 B) 1981
C) 1982 D) ] 983.
When was the Nérasimham Committee introduced ?
A) 1991 ' - B) 1981

C) 1982 D) 1983.

x [ Turn over
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63. 1992-93 diphe 1994-95 aeopdera sl geose swurfioy ohmbd ghouws

uCeoL susotiuLBselles Glen@salul PeTerg. Soass S5 gedlsEnbh ghDE

QelLlLL L &T&e Q&IediLmTe 6hs aipL ke, 9 LSLI_@&@ Bad @evpeures

allemes Hifeowd Greduniul.Hefeng 7

swrfliy
( BleveSlwedt
gy 5. Lyrifev )

ghniod)
( Comyg purdle )
A) 1992-93

o C) 1994-95

360 1992-93
385 1993-94
450 1994-95
353 1992-93
392 1993-94
435 1994-95
'B) 1993-94
D) &l firamwb Galu (pgwrg.

The production and export of .Kadhar cloth for the period 1992-93 to 1994-95 is

shown in bar graph's‘ Assuming that the entire cloths produced is exported, the-

price per squarc metre is minimum during

Production 360
{ Million sq. 385
metres ) 450
Exports 353
{ Rs.in 392
Crores ) 435

A} 1992.93°

C) 1994-95

64. @Euidlurallss sauL weso

A sypdly OyGsen

C) HITHITL &I .

1992-93

1993-94
1994-95

1992-93
1993-94
1994-95

B).

D)

B)

1993-94

Cannot be determined.

&1 sLpeorUlé srasriuBang.

@rﬂemrr

D) @ggijlrg,. '

Marshy soils-in India occur in the coastal areas of

A} Andhra Pradesh

) Karnataka

x [1802]
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anhdneus Queaflumael Nt yfluaasrGuiiu Seurs wass wrr 2
Ay Oogmyr B)  Jhsmeryd

5 ‘
C)  sambpsT D) »=@srsn,

Who was the son and successor of Chandragupta Méurya ?
R .

A) Bimbisara ‘ B) Bindusara

_C} Dhanananda . D) Asoka.

Fpssaoi_ameumaiey sramal eflures QuUIGESILL alldeme 7

A) mr@pssile Gaceub e .:Q,L._ll; sl

B) Gouemeveuminiy, sulng wHIYD . debren J. M. )

ueword Lpdl e Curgis Gamur(

C) preww CupGar@ —  &Ryrssi

D) odle Lewd @Gmbgi;gp QuUm(sL_&emen

BT SEeIE — - ifleu e ey HGuwett.
Which of the following is incorrectly paired ?
A)  Wealth of Nation : —  Adam Smith

B) Gencral theory of Employment,

Interest & Money — J. M. Keynes
Cj QOutline of Money —  Crowther ‘
D) Too much money chasing too

few goods —  Milton Friedman.

Qo aaeila B afga ghuGse s

A) sy dlen Bl @eaggenen
C) eapLGsm{Hss D) ypsGsmen.
In leaves gutta'tion is taking place through

A} Cuticle : - B) Stomata _,
C)  Hydathode ' D) Epidermis.
Setteugseueeubmel (peveTeurésd Qareaii GuTmeT gl ?

A cCl, o B) H,O

C) Hy D) | 0,.
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Which one of the following is a polar molecule ?

A) CCl, _ B) H,O | :
C) H, D) 0, :
69. OLE erebiuengs @GbiIg
A) Object Loading and Enabling B)‘ -Object Linking and Enébling

Cl  Object Linking and Embedding D} Object Loading and Embedding.
OLE stands for

A) Object Loading and Enabling B) Obje(;t Linking and Enabling

C}  Object Linking and Embeddirng. D)  Object Loading and Embedding.

70. - gellledr  yifler. wHiGuEmeRils - weatdler B  UkEG eusidt ybiafwe
wHICUee LSED BB UkDs ol 45 wHUCUCNET Jlswrs 2 g
@ueior( wHLGUET Hefle gafger 200 aafle, okl Sflaud wHuGIL eerer 2

A) 45 _ B) 50

C) 100 : D) 60.

A third of Ravi's marks in English exceeds one tenth of his marks in Science by
- 45. If he got 200 'marks in the two subjects togethei‘.‘ how many marks did he get
in Science ? _ . '

A) 45 | B) 50
c) 100 . D) 60.
71. Qb FreBlaeuTaTE ..o #e5TEOWENLILG).
A)  SLesioetl_e | B) oy SUeIDESHL e
C] LitBeusTHIy | : D)  seuretemmm.

The nature of Indian climate is _
A} Tropical B)  Subtropical
C) Monsoon ' D) Savanna.
72.  EpsoaiLeuppiet ‘Chyg ngq.éema (BT 6T’ e’raﬁ@ sPleléauul Lg ag ?
A)  gebui 22, 1939 " B)  aymeul 16, 1946

C). Qo 16, 1946 D) gyeeul 15,1947,

(180 | - [woory
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Which among the following was declared as ‘Direct Action Day' ?
A)  22nd December, 1939 B)  16th August. 1946
C} 16th Ma‘y. 1946 - D)  15th August, 1947.

73, ulgué I g ulquée I 2L d Quissd. &Cp Gar@ésuun Geren CINCEL RS
Qarwo® sfurer el ows CaibCa® : ' '

g wén I vlgwéy 11

a) BASEL 11 1. Qeuefdlgmpiny s
b)  SEBI 2. smodl@ gLk
c) NPA 3. WPVSHRT FHDMS
'd)  IRDA 4.  cundl wpweitssl.
efIpsar : |
a b c d
Ay 3 4 1 2
‘B) 4 3 1 2
c 3 2 1 a4
D 1 2 3. 4
Match List I with List Il correctly and select your answer using the codes given
 below :
List 1 | List II
a) BASEL 11 L. Loan Outstanding
b} SEBI 2. Insurance
c) NPA 3.  Capital Market
d) | IRDA 4.  Banking Reform.
‘Codes : .
a b c d
A) 3 4 1 2
B) 4 3 1 2
¢ 3 2 1 4
D) 1. .2 3 A4
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74.  whser LTeTGL QoL e GGy weurt
A) 1806-0 yeoni(p) Ceusyrr Yyl 6 B) sy wurgdlenry -
C)  1857+b Sy LTl seaid D) wrurk Y8l
Mangal Pandey is associated with
A) ‘ Vellore Sepoy Muliny of 1806 B) Dandi March
) Sepoy Mutiny of 1857 - D)  Mabar revolt.
75. Gadlu senalley et Lib WeHwusbgand QuneushE &b
A supeorl Ui8ss eemnelb '
B} . wsdu eLe Sty smes 2pmiEd evww eowalln
C) Gadlu Qp@ereramea Heowad b
D) ‘@grrzgme?usug SHHTEOD el .
Mandapam is of national level importance because of its
A) location in the coastal region |
B) locgtion of Central Marinc Fishing Research Institute
C) iocation on National [lighway
D) location ncar Rameswaram.
'7l6. d]e&rcu@msﬁmﬁ)@tsﬁ sihe BN HITHay Plearass aoel Hemg ?
A eue 550 B} enbss®
C) « Heramhs mrLT D) Gy ({ RAM ).
Which one of the following is not a permanent storage device ?
A) Hard disc B)  Compact disc-
C} Magnelic tath S ) RAM.
77. Syeisat sraoiu@eng
A) &mc‘smr}mn : B) dllpgev
C)  wr | ‘ D)  séeTel.
Aggregate fruit is present in |
A) Annona B) Citrus

C) Mango D) Tomato.
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78. Wit Liresm GL STHESI_UILIL L el
A} 29 wnig. 1857 | B) 10 Guo, 1857
C) 24 gupé, 1857 D) 29 goer. 1857.
‘Mangal Pandey was hanged on
A)  29th March, 1857 B)  10th May, 1857
C}  24th April, 1857 D)  29th June, 1857.
79. @ srdlusaniila ahs awrsa eyuyflons sl b 1955 o alaufsdlps 2
A} ewse 11 B)  eyrss 12

Cl}  eyyse 13 ' D} eursa 14.
Which Article of the Constitution of India deals with the Citizenship Act. 1955 ?

A)  Article 11 : ‘ B)  Articled2
C) Article 13 D} Article 14.
80. @ndurale (e BlS yeowsar wrr 2
A)  T.T. Hpeyeoonoréemt B) .Y V. Gyl
C)  seipsbd Qal gt : D) - C. sdlywesiub.
Who was the first Finanee Minister of India ? '
A) T. T. Krishnamachari B) Y.V. Reddy
C})  Shanmugam Chettiar D) C. Subramaniyam.

81. 2010-6 Qupdlueiier A. Qadb whnd K. Crrbleurtagesy ou&Curhée & poheedn
ehs speiibares Corud ufle auphsiulL g ?

Ay dlgnSes et @y Uy

B)  gof @opde gyin |

C) Bt Sevexiiiy s@mead s Hiuilgly

D)  urdef Hyaismeilear apsud ubBw 26y,

The 2010 Nobel Prize in Physics was awarded to A. Geim and K. Novdselov for
A) development of graphcne |

B) wOfk on fibre optics

C) . invention of charge-coupled device

D}  work on the origin of galaxies.
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82. Descent of Man erettp prredesr oy &iflw
A) Y eduil aredy ' B)  emievenv Ll
C) sOedwet andhavGen D) sl enghi_esr.
Who wrote the book ‘Descent of Man'® ?
A) Alfred Wallace B)  Charles b_arwm
C) Julian Huxley : D) Arthur Eddington.
83. uwssamanile Que erlitaL ) g;eme\m‘.lr? . l
A) Srymigromt 7 B)  Hemgust
C) Gameflur &THE) D)  Gelyom seugred.
" The woman leader of the opposition in the Lok Sabha is |
A) Mcira Kumar B) . Nmé'(}l}pta
C) Sonia Gandhi D) -Sushmal Swaraj.
84. Ggdlu eurprprel ST Hemesiirert aﬂ@g,j 2010-c @u[bfj)a‘ur'r
A blgmiusee B) sha&iuserer
C} ggleienbs 4 D) swbéanrged.
"Who i$ the recipicht of the National Lifctime Achievemnt Award in 2010 ?
A)  Amitabh Bachchan ' B)  Thangarbatchan
C)  Rajanikant D} Kamal Hasan.
85. MIiG aenuglen prameid sbwhsiu Ll alifleursan
A) Military Innovative Group B) Military Improvement Group
C)  Military Indian Group D) Mikoyan-Gurevich.
Exp‘ansion of MiG which is related with defence is
A) Military Innovative Group B)  Military Improvement Group
C) Military Indian Group : Iﬁ) Mikoyan-Gurevich.

86. @hHU e, eHEE 2010-G6 Formall b @ovha CarawnCudis HHelae euThGD
SOL W ahe HNSEI6E somidiug 7 L
A)  MTNL - B} Tata Tele

C) BSNL D) DOCOMO.
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87.

88.

89.

90.
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India in August 2010 lifted restrictions on ... to buy
telecommunication gear from Chinese vendors.
A)  MTNL , ' . B) Tata Tele

" C}  BSNL ' D) DOCOMO.

2_qudilen @g,e'\a entruehp. & leyserdn hnd welphe Eeers HayD
A) IDITENLIT H&TD - B) UMY &&61 M
C) o6 m&JD | S D}  @poenu magib.

World's first zero-carbon, zero-waste and car free city is

A}  Masdar city B) Vatican city

C) London city D}  Mumbali city. '

glys 2010 oy syan @, Sbuele agsmerurag arié 2 &8 wIHTEH HLHSS ?

A) 10 sug B) 16 ;)Jg]

C) ldaum D) 9eum.

Which SAARC Summit was recently held in Thimphu in April, 2010 ?

A)  10th ‘ B) 16th

C} l4th ' Dj  Gth,

2010 &b Iyedong ey men Glubhm &ﬁms&r@ma’:_&, Gumiigsefles waet WeopLTe: HE©
ugsel Gurlgurs Gatealul L. efleeTwm @ erg ?

A sug B)  apréd

C) . srdubsl . D) Ouenafleu,

Which sports was included for the first time as a xﬁedal sport in the
Commonwealth Games, 2010 ?

~A) Kabaddi : " B) Hockey

C) Football " _ D) Tennis.

L3

1 gebur 2010 & wedluyt wmflegdles AFSPA Quaid @m oGS
By &ssOULReteng. AFSPA areng @DéSIDg: 2

A) e Len ( oty KFlemgip ) el ib, 1958
B)  susl ue ( Sply ydlanrghd ) e L b, 1958
C) sa(ge ueL ( Hpuy flaryd ) b, 1958
D} Syl L ( Apuy siflenrgb ) 0 Lb, 1958..
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AFSPA has been extended for one more year in Manipur from 1st December,

2010, AFSPA stands for
A)  The Assam Force { Special Péwer } Act, 1958
B) The Armed Forces ( Special Power ) Act,. 1958
C) The Additional Force { Special Power ) Act, 1958
D) The Artﬂlery Force { Special Power ) Act, 1958.

91, Qelbut 16 i preflar Hplubsn e 2 . .
A) 2_ea sphper dlerd B) 2 e soalubla) deonbd
C) 2 @& 2 ooy glerd D) e eGarer lasib.
What is the speciality of 16th September ?
A)  World Tourism Day " B)  World Litcracy Day
C) World Food Day | - D) Werld Ozone Day.

92. 2011 émmﬂﬁm @bdlurale wpaearenn Csige %mwmgn$ BIBHSeT Wrd 2
A)  Speyameptsd B) peler areuem
C} S.Y.aCraf . D) Gsmumé s,
Who was the Chief Election Commissioner of India in January, 2011 ?
A) Krishnamurthy | B) Navin Chawla |
C) S. Y. Quralshl D)  Gopal Sharma.

93. &Cp Qar@ésiu’ feratancusdilé, ahs uGHas g el 2010 & Ha BEHSHH0

o eitenmelug: 7

A QL QipmiLT, Feony eIt B) &, weyedsn. o, Qmhlyt
C)  Gameur, weyesn. ey, Qi D) QlLéell, qpideru, Qi
Which one of the following areas was affected by August, 2010 earihquake ?
A} Delhi. Notda, Chandigarh B) Bhuj, Mt. Abu, Jaipur -

C) Goa, Mt, Abu, Jaipur | D)  Delhi. Mumbat, Jaipuf.
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94. 20090 o@ulRsaTor Coaidue (Sgbrr-ue’n uflens Qeuhsl gmbedt  Triodlmeiyeos et
mthiel @G@Gﬁb‘ffj’)@].@u@ﬂjﬁﬁ ? .
A)  gra AL Guirts whpid eurdo i Gere
B) . @yialler Gymev whaud grum’ H. diylisv
C)  gmoey durel ev whnb o m Gurmrg
D)  CNR Frel hpid M. S. seumBpms e,

Venkataraman Ramakrishnan_ shared the Nobel Prize in Chemistry for the year
2009 along with '

A) John A. Pope and Walter Kohn
‘BY  Irwin Rosec and Robert 11, Grubbs .
C) . Thomas Steitz and Ada Yonath
D) CNR Rao and M. S. Swaminathan.

95. ehs Gn G,rcq%urraasmin @.&@T@B’—L; 2 oo ellewt Qlevelag aBHas Geame

A S aevae el - 14 B Qe an el -A 9

o @ eTe eréy &l h D) 1§ ere et afl - & 10,
Which one of the launeh vehicles carried Qccan Sat-2 to the space ’?7
At PSLV -Cl4 _. B) PSLYV - C9
C)  GSLWV - | " D) PSLV-cClo.

96. detteumh ehs HTUige | abur 2010 6 &.rrr'réa i sse setoamL &l @@LQU@DQ ?
Ay umdlevgmebr B) ukisertmGgeiy
C) Grumei | . _ . D) @hdlur. : L

In which of the following countries was SAARC Trade Fair organised in
December, 2010 ?

A) Pakistan B)  Bangladesh
C) Nepal ) D) Ihdia.
97. m&@mwjb_mﬁ[gﬁmshg}gbg;rrm SCBurgdl iy eLQuTLE Ceuafidu L g 2
©A) - 30 eGLrui 2010 B} 30 QaiiLbuf 2010

C) ° 30 sysev@ 2010 . D) 30 peuburi 2010.

f : : .
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98.

99.

100.

When was the Ayodhya Verdict delivered by Lucknow High Court ?
A} October 30. 2010 B)  September 30. 2010
C)  August 30, 2010 D) November 30, 2010.

QelLbur 2010 & gl ubdl Gburen Qabe Gerfluran Gyan® yfibgewey
plUUbshsoe aneCuupddi L et 7

Ay Gorlt surses efwrumghd B) &&al
C)  Beefluc QurmL el D) urgsmiy.

In September, 2010 India 'and South Korea signed two Memoranda of
Understanding on . '

A} Automobile trade _ B}  Education
C)  Electronic goods D) Defence.

GrrGuwig s allCue aevug)

“A) Gleusiiemen WITemenT

B)  guiflsaralés sramd e alp wureneas

C)  @hdlureyn wiGarelurein Gleeamhg HLSHL G)TTamies QewdLT@ee
D) @bdw elwreriusoL e Gk efinmen slest G

“Nomadic Elephant” refers to '

A}  White Elephant

B) type of elephant found in Africa

C)  joint military cxercl‘se between India and Mongolia

D) ham-e of a military aircraft in Indian Air Force.

2 adles ifls genale owarenal 2 hHusd Qelydb pr@ ag 7

A Qgiwed B) urre‘:‘l.e'rugns&r

C)  @pdur ‘ D)  spuumes.

Which country is the largest producer of Mica in the world ?
A) Germany B) Pakistan

C) India - D) Japan.
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101. Match the following words given in Column A with their meanings tn Column B

and sclect the correct answer from the codes given below :

d) -

a)
b)

c}
Codes :
- a

A) 3
B) 4
)y 2

D)

1

Column A

notion

mettle

~advent

gueer

1
3

3

4

I S Y

Column B
1. arrival
2. strange
3. courage
4. idea.

102. Malch the following words given in Column A with their meanings in Column B-

and select the correct answer from the codes given below :

a)
b)
=
d)
- Codes .
a
A1
® 2
c) 3
D) 4

*( 1802 |

Column A

strove

. convenient |

slralegy

gleam

Column B
1. suitable
2. shine
3. tried
4. plan.
—__f@ ‘ [ Turn over
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103. Maich the following words’givcn in Column A with their mcanings in Column B

and select the correct answer {rom the codes given below -

Column A Column B

a) apex 1. passage

b) channel ' 2. gift

¢)  verge 3. lop

d)  boon ' 4.  brink.
-Codes @

a b c d ]
A) 4 1 3 2
B) 1 2 3 4
C) 3 1 4 2
D) 2 3 4 1.

104. Maltch the following words given in Column A with their meanings in Column B -

and sclect the correct answer from the codes given below :

Column A . : Column B
a) pleaded 1. good qualities
b}  wirtues 2. delight
c) glee 3.- deviated
‘d)  diverged | 4. requesled. ‘

Codes :

A) 2 a 13
B) 4 1 2 3
o 4 3 1 2 )
D) 3 2 1 4
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105.

106.

107.

108.
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Match the following words/phrase given in Column A with their meanings in
Column B and select the correct answer from the codes given below :

Column A Column B

a) sans . -1, participate
b)  take part _.2. life histo.ry of one’s own self
c)  autobiography 3. met
d} called on 4.  without.
' C.odes R

A) 2 1 4 3
B) 3 4 . ]

o a4 3 2 i

D) 4 1 .2 3.

Chooé:e_: the correct synonym for the italicized word :
1 fed on ﬁﬂh for nineteen years.

A)  dirt B) rich
C) . tasty o D) bitter.
Choose the correct synonﬁ for the italicized word :
I was jolted by an ehormpus noise.

A)  small ' . B) big

C) narfow _ D) dim.
Choose £he correct synonym for the italicized word :

They lashed me. .

A) wounded - B) released

C) beat . D) punished.

' é" l 18_03-1 _ , : [1_—66_1_| ' ' {’I‘urﬁ over
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109.

110,

Choose the correct synonym for the italicized word :
Mary was hurt. o |
A) upset _ B) - pleased
C) affected _ D) * wounded.
Choése the correct synonym for the italicized word :

I used a pressure cooker instead of a stone vat.

A) pressure pan B) frying pan

Q) large tub : D)  big pan.
111,

Choose the correct antonym for the italicized word :

The girl was delighted to watch the roadshow.

112,

113.

114,

115.

A) shocked ' e B) sad
C) forced ' D) lost.

Choose the correct antonym for the italicized word :

-In 1815, Beethoven found himself in a still more miserable condition. -

A) pleasurable B) suitable
C) tolerable ' D) negligible.
Choose the correéct antonym for the italicized word :

His anxiety is clear.

" A) animation Bj alert

C) confidence : : D}  conflict.
Choose the correct antonym for the jtalicized word :
They chained me up like wild animals.

A tamed ‘ B)  dangerous

Cl lai’ne D) large.
Choose the correct antonym for the italicized word :
Was he desperate or {rightened ?

A)  terrified . B) -worst

c eﬁcouraged ' ' D) hopefui.
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122,

123.
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Select the word with correct prefix :
A) ' proentity B} reeﬁtity
C) . nonentity : D)  deentity.
Select the word with correct prefix : -
A_] international . ' _ B) interior
C)  intercom D) inferior.
Select the word with correct prefix : |
A) | prepaid B} depaid
C)  mispaid D) Aenp'aid.
Select the word with correct suffix :
A) " needy ) | B} needly
C) needness : D} needee.
Select the word with cor:ect suffix : |
‘A) madom | : B) cleverdom
C) L kingdom' ' ' D)  pendom.
Fill in the blank with the suitable article : : “r
Have you ever seen .........coiieeeee.s elephant ? | '
A)  the ' B} an
C) a ' . D) no article.

Fill in the blank with the suitable article :

rtitreesssierieennn.... Eskimos make houses of snow and ice.

) AR ) ‘ B) The

C)] A ' ‘D) No article.
Fill in the blank with the suitable article :

Hones;t men speak .........oooeiennen ... truth,
A) a ‘ B) an
C}] the ' D)  no article.

Fill in the blank with the suitable article :
R apple a day keeps the doctor away.

A) The B A

C) An : .D)  No article.

"POEM
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125. Fill in the blarik with the suitable article :

C Whal e beautiful scene this is !
A) a . B) an
e no article D) the,

126. Fill in the blank with the suitable preposition :

There is'still NO CULE o.vvviienreerinerren the éommon cold.
A)  with B) for
C] over ' D) to.

127. Fill in the blank with the suitable preposition ;

Suresh went there ..................... my bike.
Al by | B) at
C) ‘on D) in.

128. Fill in the blank with the suitable preposition :

The students should work hard to get ........ N ) the examinations.
A) on : ‘ B) over
C) through : D)  about.

129. Fill in the blank with the suitable preposition :

He is never tired.................. e working.
A at | B) in
] of ) D) from.

130. Fill in the blank with the suitable preposition :

’i‘he glass is ...ooveviniiniinnnn., the floor.
A) between | , B) after
C) ‘before D}  on.

131. Select the correct question tag :

They won't attend the meeting, .................. ?
A) ' will they , B) won't they
C) can't they : D) aren't they.
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132.

133.

134.

135.

136.

137.

138.

139.

Select the correct question tag :

1 am a social worker, ................

A) am |
C) arentl .

Select the correct question tag :

He didn't attend the party, ........
A)  does he '

C) didl

Sglect the correct question tag :

Let us go to the beach, ..............

A) don't we
C) shall we .

Select the correct question tag :

Mohan doesn’'t work hard; ........

A) does he
C). hashe

Select the correct tense :

39

..... ?

B)
D)

............. i

B)
D)

....... ?

B}

D)

............. 2

B)

D)

amn't I

do L.

did he
don't he.

do we

haven't we.

is he
will he .

Sheela jumped off the bus while it .................. :

A) moved
C)  was moving

Select the correct tense :

Had the doctor arrived in time, he

A) will have saved
0) has saved

Select the correct tense ;

A} - has come
C) comes

Select the correct tense :

A good citizen always ................

A) acted
C} act

x| 1802 |

B)
D)

B)

D) .

B}
D)

| 2001 |

...............

selflessly.

has been moving

had moved.

e life of the patient.

-would have sdved

had saved.

is coming

rwill come.

will act

acts,

POEM
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140. Choose the correct tense form of the verb given in brakets :

I.oon... e ( eat) my breakfast at 800 every moming.
A) will eat B) ate
VC) am eating , D) . eat.

141. ‘Select the Active voice : 7 .

A) He spi"f:ad the kerchief on the map
B) Sémbu‘s trip -was sponsored by Golds"cein
C) It has been clinched by us
D) The house was built by my father.
142, Select the Passive voice : |
A) The table was repaired
B)  Ravi heated water in a test tube
C)  The doctor gave an injection to the patient
D)  Mahatma Gandhi led the Dandi March.

143. Select the correct voice of the verb from the options given : -

Thewall ..........coini by him
A) paint B) - is being painted
C) painted j D) painting.

144. Select the correct voice and fill in the blank ;

When he arrived home, he .................... by a detective.
A) is arrested . B are arrested
C) will be arrested " D) was arrested.

145. Select' the correcf voice form é.nd fill in the blank :

He ... by his own friends.

A) cheats : B) . cheated

C) has cheated : D) was cheated,
146. Fill in the blank with the suitable participle :

Did you see him ............. e ? _

A dance - B) dancing

C) | to be dancing D) danced.

x | 1802 | . | 1001
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151,

152.

153.

154.
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Fill in the blank with the suitable participle :
We, generally, admire the beauty ofa ...........

A) . danced . B)
C) dances ‘D)

Fill in the blank with the suitable infinitive :

This box is too heavy ............ FRPT .

A) U | B)
C) lolift D)
Fill in the blank with the suitable gerund :

He is interested in ..................... .

A)  draw ‘ - "B)

C) ' to draw 7 D)
Fill in the blank with the suitable gerund :
The cinema was ......... o

A) bore ' B)
C)  boring | 5 D)
Identify the sentence ﬁattem ]

The news turned him bale.

Al SV.IODO . B)

" C) -SV.AA. ' - D)

Identify the sentence pattern :

The children shouted.

a) - S.v.0. I B)
C SV, - D)
Identify the sentence pattern : | '
She worked hard.

A) - SV.0O : ' ' B)

C) SV.C. - _ D)
identify the sentence pattern :

I preéented him a pen.

A) S.V.CA. B)
C) SV.O.C. : D)

POEM

lifting
to be lifted.

drawing

to be drawn.

to be boring
bored.

S.V.0C.

S.V;C.A.

S.V.C.
SV.0.C.

SV.A.
AS.V.

S.V.0.A.
S:V.10.DO.
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- 155.

156.

157.

158.

159.

- 160.

161.

Identify the sentence pattern :

Ravi bought- a bicycle yesterday. '

A)  SV.0.C B)
C) S.WV.10.DO. D)

Change the following verb into noun form: .

Die _
A) died B)
C) dyed ' Dj

Change the following verb into noun-:

Frightened
A) frightening ‘ ' B)
C) fearsome D)

Change' thé following noun into verb form :

Remembrance
A)  remind - B)
C) remark D)

Change the following noun into verb :

Animation
A) animate . B
C) animator - D)

Change the following adjective into adverb :

Generous
A) generously B).
C) generosity - : | D}

Fill in the blank with a suitable homophone :

The computer is .........coceeeniinien. .

A)  sleep "B}

C) sleeve _ D)

[dsea] 1001

S.V.0.A.
S.V.CA.

death
dead.

. fear

fearing.

reminiscent

remember,

to animate

"animating.

generousness

generate.

sleet

sleek.
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Fill in the blank with a suitable homophone :

POEM

The children who sing well can join the ..................... .

_A) choir . B)  coir
C]_ core - ' D} . comer.
Fill in the blank with a suitable homophone :
The ..o, is a hot burning heavenly body.
A) soon o B) son
€) sin _ D)  sun.
Fill in the blank with a suitable homophone :
He always offers ...... e, to the poor..
A) alrns ' B) arms
C) harm D) aims.
Fill in the blank with a suitable homophone : |
Prevention is ..............oeiniee.. than cure.
A} bitter ‘ ¢ _ B} better
C) balter " 4 D) bultter.
Fill in the 'blanl.(. with a suitéblc homophone : -
The soldiers should use their ................... . in fighting,
A)  mite B) right
€)  might D) rite.
Comprehension : '

Once, while riding a street car in Berlin, Einstein told the conductor that he had
not given back the right change. The conductor counted the change. But he
found it to be correct. So he handed it back and said thai the trouble with
Einstein was he did not know figures. However, Einstein took no notice of his
remark.

A)
B)
C)
D}

E | 1802 |

‘What did Einstein say to the conductor ?

He had given back the right change
He did not know figures
He had not given back the right change

He counted the change.

{1001 |
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168. Comprehension @

169.

170.

171

Oliver Twist's ninth birthday found him a pale thin child, somewhat diminutive
in stature. But nature or inheritance had implanted a good sturdy spirit in

Oliver and perhaps to this spirit may be attributed his having any ninth
birthday.

What has nalure implanted in Oliver ?

A) Nature had implanted a good sturdy spirit
B) Reduction in size

C) Extremely small

D)  Nature had implanted not a good spirit.

Comprehension :

Guyana is a small counLry' situated in the Northern Coast of Seuth America, on
the Atlantic Ocean. People of Indian ancestry form nearly 50 per cent of its
population. The rest are local Amerindians and Chinese descent.

Where is the country Guyana situated ?

A) South America

B)  South Altantic Ocean .
C) North America

D)  Northern Coast of South America.
Comprehension :

The Arctic tern is an unusual bird. It nests close to the North Pole in the
summer. In autumn it flies south all the way to Antarctica.

In summer Arctic tern nests in. -

‘A) Antarctica ‘ ~ B) South
C) North Pole D)  Arctic Ocean.
Comprehension :

Hobby is an activity which somcone does for pleasure when they are not
working. There are various hobbies as stamp collecting, gardening, painting,
drawing, acting, reading etc. Among these hobbies, reading is very useful to a
person. '

- Which hobby is very useful ?

A) Drawing | B) Reading

~C)  Painting D) Gardening.

|1soz] | 1001
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173,
174.
175.

176.
177.
178.
179,
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Select the correct sentence ©

A)  Though he was weak, but he attended the class

. B) ’I‘hough he was weak, he attended the class

. C) Though he was weak so he attended the class

D)  Though he is weak he atiended the class.
Select the correct sentence :

A)  Water are collected in the tank

_B) Water collects in the tank

C)  Water will be collecting in the tank -

- D) Waler is collected in the tank.

Select the correct sentence :

-

" A) This is the boy whom won the gold medal

B) This is the boy who won the gold medal

- C}  This is the boy whose won the gold medal
D) _ This is the boy which won the gold medal.

‘Find out the error :

She kepl the book in the table
A B C D

l!*‘ind out the error :
They called me as a fool

- A B C D

: Find oult the crror :

He is aman_ of letter

A B¢ D

Find out the error :

“We reached Mumbai in train

A B C D

. 45 POEM
_Sg]ect the correct senience :
: A) The dance room is spacious. . B) - Dancing room is spagious
C} Dance room is spacious D) The danped room is spacious.
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180. Find out the error :

This book  has sold by the booksecller
A B C D :

181. Find the odd word ( Verb ) :

A) play ‘ - B) player

C) playful _ : D}  playboy.
182. Find the odd word ( Adverb } : - ‘

A) wearer B) wearled

C) wearily D}  weariness.

183. Find the odd word ( Verb ) :

A)  aggressive B) aggression

C)  aggressor . D) aggress.
184. Find the odd word { Noun ) : 7 '

Al . convicl : -B) convicted

C) convince D) convincible.
185. Find the odd word ( Adjective ) :

A) hermetic i B} hermit

C) hermitage . - D} hermit crab.
186. Select the correct plural form for the given word :

penny
A) penny B) pennies
C) pcnnﬁes . | D') pennys.
187. Select the correct plural form for the given word :
thesis
" A)  thesiss | "~ B) thesises
C) thesis D) theses.

188. Select the correct plural form for the given word :

brush
A) brush | B) brushes
C) brushis D) brushies.

[ 1802 ] (1601 ]
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192,

193.

194,
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Sélect the correct plural form l'of 0Lhe given word :
foot'
A) feet . . B) foots
¢ feets D) - footes.

Select the correct plural form for the given word :

tooth
A) too‘,th B) toothes
C) teeth - D) tooth.

Identify the Compound sentence :

A) rRaising his voice, Ravi shouted at his friend |
B) Ravi raised his voice to shout at his friend

C)  Raviraised his voice and shouted at his friend
D) On raising his voice, Ravi shouted at his friend.
Identify the Complex sentence :

A) I'will read the book if you give it to me

B] 1 will read the book and tell you the story

C) 1 will read the boek to you

D) 1 will read the book with you.

Identify the Complex sentence :

A) He can sing even thougﬁ he canhot hear

B) He can sing but he is deaf

C}  He can sing in spite of being deaf

' ) He can sing despite his inability {o hear.

Identify the Simple sentence :

4}  Jumping up he ran away

. B}  The day dawned and birds began to chirp

C}  If you work hard you will win

‘I3)  Though he was rich he was unhappy.

[ 1802 N T T
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195. Identify the Simple sentence :
A) Though the hare ran fast, he lost the race
B3) Looking at her watch she decided to start
C) The hare ran fast but he lost the race
D) They garlanded him when he arrived.
196. Identify the degree :
Raju is not so short és Raghu.
A) Comparative degree ' B) Positive degree
Q) Superlative degree | D)  None of these.
197. ldentify the Comparative degree :
A] Love is sironger than death
B) Raghul is not intelligent as Dayal
C) Kumaran is the tallest boy in the class
D) Mani is not so wise as Ravi.
198. Identify the Superlative degree :
A)  Very few professionals are as noble as teacher
B)  The pen is mightier than the sword
C) Porus was as great as Alexander in valour
D)  Mount Everest is the highest peak of the Himalayas.
199. Identify tfle Positive degree :
A} Honesty is the best policy
B) Prevéntion is better than cure
C) Australia is the largest island
D) No other planet is so big as Jupiter.
200. Identify the Positive degree :
"A)  The Thar is hotter than the Sahara
B) Delhi is the largest city in India
C) Delhi is iarger than any other city in India
D}  Ooty is not so cool as Kodaikanal. . | !
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